3.13 EXPENDITURE METHOD

3.13.1 Meaning and Composition of N/ by Expenditure Method
Tr'1 e. enditure method of measuring National Income is also called Inc.ome
Di.:po?;l Method or Consumption and Investment Method. Expenditure

method is a method which measures the final expenditure on gross domestic
product at market price during an accounting year. This total final expenditure

is equal to the gross domestic product at market price.

According to expenditure method, GDP, , is the aggregate of all the final
expenditure in an economy during a year, i.e.,

Y = C+I+G+X-M)
where

Y = National Income

C = Private Fina] Consumption Expenditure

é : 1;1(1)12 rIrllwestment Expenditure or Capital Formation
o ment Finga] Consumption Expenditure

Net exports (x

_ Stands for export
for lmports), ports and M stands
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rding to the expenditure method, }:omposition of GDP,,, is as follows:

Acco
{. Private final consumption expenditure
2. Government final consumption expenrditure
3. Government fixed investment
4 Business fixed investment
5. Investment on residential construction
6. Inventory Investment or Change in Stock (i.e., Closing stock — Opening

stock)
7. Net Exports (Exports — Imports).
GDP,,, by expenditure method =1+2+3+4+5+6+7

3.13.2 Steps Involved in Calculating NI by Expenditure Method
The calculation of NI by expenditure method is done in three steps:
Step 1. Identification of Economic Units Incurring Final Expenditure

There are four categories of economic units which incur final expenditure
within the domestic territory of a country. They are:

(a) Household Sector
(b) Production Sector
(c) Government Sector
(d) Rest of the World Sector.
Step 2. Classification of Final Expenditure
The final expenditure is classified into the following three kinds:
1. Final Consumption Expenditure:
(@) Private Final Consumption Expenditure.
(b) Government Final Consumption Expenditure.
2. Gross Domestic Capital Formation:

(@) Gross Domestic Fixed Investment or Gross Domestic Fixed Capital
Formation.

(b) Inventory Investment or Change in Stock.
3. Net Exports.

Fig. 3.5 shows the classification of final expenditure under the three
Categories.
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Fig, 3.5 Classification of Final Expenditure or GDPpp
Step 3. Estimation of NI by Expenditure Method

1. Private Final Consumption Expenditure
2. General Govt. Final Consumption Expenditure

Add‘# +
| Final Consumplion Expenditu?l
Add y +

3. Gross Domestic Capital Formation (GDFC)
(GDFC = Gross Domestic Fixed Capital Formation + change in stock)
Add l +

4. Net Exports
(Net Exports = Exports — Imports)

Add ] +
5. Net Fac:tor Income from Abroad
[ ProdL{ct at Market p

ductiat Factor Cogt (GNPFC)
Subtract [ _

Scanned with CamScanner



Fig. 3.6 shows how NI is calculated by expenditure method.

3,13.3 Precautions Involved in Calculating NI by Expenditure
Method

The precautions to be taken while calculating national income by expenditure
method are:
1. Final expenditure is to be included to avoid double counting. Final
expenditure is expenditure on consumption and investment.

2. Intermediate expenditure like on raw materials, etc. is not included
in the calculation of national income.

3. Expenditure on second-hand goods is not included as they have
already been included when they were purchased originally.

4. Expenditure on shares and bonds is not included because buying
financial asset is not a production activity because financial assets are
neither goods nor services.

5. Gross investment is included in total expenditure. Gross investment
includes replacement investment and net investment.

6. Expenditure on transfer payments by the government is excluded
in total expenditure because transfer payment is a payment against
which no services are rendered therefore, no production takes place.

7. Self-use of own produced final products. For example, a house owner
using the house for self. Although explicitly he does not incur any
expenditure, implicitly he is making payment of rent to himself.
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